

① $\log_n^m = a$ $\log_{mn}^{mr} = b$ ar. $[b] = ?$

$n^a = m$ $(mn)^b = m^r n$

$(n^a n)^b = n^{ra} n$

$(n^{a+1})^b = n^{ra+1}$

$n^{ab+b} = n^{ra+1}$

$[b] = \left[\frac{ra+1}{a+1} \right] = \left[\frac{a+1}{a+1} + \frac{a}{a+1} \right] = \left[1 + \frac{a}{a+1} \right]$

$= 1 + \underbrace{\left[\frac{a}{a+1} \right]}_{\text{صفر}}$

$ab+b = ra+1 \rightarrow b(a+1) = ra+1 \rightarrow b = \frac{ra+1}{a+1}$

$[b] = ①$

الف) $y = \sqrt{\frac{x}{\log \frac{x}{\frac{1}{r}}}}$

① شرط: $x > 0$

② شرط: $\frac{x}{\log \frac{x}{\frac{1}{r}}} \geq 0$

$\frac{x}{\log \frac{x}{\frac{1}{r}}}$

$D_f = (0, +\infty)$

ب) $\frac{\log(x^r - x - r)}{\sqrt{x^2 - 1} + 1}$

① شرط: $x^r - x - r > 0$

$x^r - x - r > 0$

$\rightarrow (-\infty, -1) \cup (r, +\infty)$

$(x-r)(x+1) > 0$

$\frac{-1}{+} \frac{r}{+}$

② شرط: $x^2 - 1 \geq 0$

$\rightarrow x^2 - 1 \geq 0 \rightarrow x^2 \geq 1$

$\frac{-1}{+} \frac{+1}{+}$

$\rightarrow (-\infty, -1] \cup [1, +\infty)$

$D_f = (-\infty, -1) \cup (r, +\infty)$

$r \log_a + \log_{\sqrt{a}} = r$

$r \log_a + \frac{1}{\log_a \sqrt{a}} = r$

$r \log_a + \frac{1}{\log_a a^{\frac{1}{2}}} = r$

$\frac{r \log_a}{\frac{1}{2}} + \frac{1}{r \log_a} = r$

$t + \frac{1}{t} = r$

$\frac{t^r + 1}{t} = r \rightarrow t^r + 1 = rt$

$t^r - rt + 1 = 0$

$(t-1)^r = 0$

$t = 1$

$t = r \log_a = 1$

$\log_a a^{\frac{1}{2}} = \frac{1}{r}$

$\log_a a = \frac{1}{r}$

$a = (a)^{\frac{1}{r}} = \sqrt[r]{a} = ③$

③

$$\log^r = 0,1 \quad \log^r = 0,1$$

(12)

$$(\log^{\frac{a}{r}})^r + (\log^q)^r - \log 10 = 0$$

$$\log^{\frac{a}{r}} = \underbrace{\log^a}_{\log^{\frac{1}{r}}} - \log^r = (\log^{\frac{1}{r}} - \log^r) - \log^r = 1 - 0,1 - 0,1 = 0,8$$

$$\log^q = \log^r = 2 \log^r = 2 \times 0,1 = 0,2$$

$$\log^{10} = \underbrace{\log^a}_{\log^{\frac{1}{r}}} + \log^r = (\log^{\frac{1}{r}} - \log^r) + \log^r = 1 - 0,1 + 0,1 = 1,0$$

$$x1. \rightarrow 0,1r^2 + 0,1r - 1,1 = 0$$

$$r^2 + 1r - 11 = 0$$

$$2r + 1r - 11 = 0$$

$$(r+11)(r-1) = 0$$

$$r = \frac{-11}{1}$$

$$r = \frac{1}{1} = 1$$

$$\log^{\frac{a}{r}} = 1 - (-\frac{11}{1}) = \frac{r+11}{1} = \frac{1+11}{1} = 12$$

$$\log^{\frac{v}{r}} = 1,8 \quad \log^r = 0,1 \quad \log^{\frac{10}{r}} = ?$$

$$\log^{\frac{10}{r}} = \frac{\log^{\frac{1}{r}}}{\log^{\frac{1}{r}}} = \frac{\log^r + \log^{\frac{10}{r}}}{\log^r + \log^{\frac{10}{r}}} = \frac{r}{r} = \frac{10}{19}$$

$$\log^r = \frac{1}{\log^{\frac{10}{r}}} = 0,1 \rightarrow \frac{1}{0,1} = \log^{\frac{10}{r}} = 10$$

(13)

$$\log^r = 1,4 \quad \log^{\frac{a}{r}} = 1,5 \quad \log^{\frac{4}{10}} = ?$$

$$\log^{\frac{4}{10}} = \frac{\log^{\frac{4}{r}}}{\log^{\frac{10}{r}}} = \frac{\log^r + \log^{\frac{4}{r}}}{\log^r + \log^{\frac{10}{r}}} = \frac{1 + \frac{10}{14}}{1 + \frac{10}{10}} = \frac{\frac{14+10}{14}}{\frac{20}{10}} = \frac{24}{20} = 1,2$$

$$\log^r = \frac{1}{\log^{\frac{4}{r}}} = 1,4 \rightarrow \log^{\frac{4}{r}} = \frac{1}{1,4} = \frac{10}{14}$$

(14)

$$\log_{\lambda}^{\lambda} = m \quad \log_{\kappa}^{\lambda} = ?$$

(V)

$$\log_{\lambda}^{\lambda} = \frac{1}{\lambda} \log_{\lambda}^{\lambda} = m$$

$$\frac{1}{\lambda} (\log_{\lambda}^{\lambda} + \lambda \log_{\lambda}^{\lambda}) = m$$

$$\frac{1}{\lambda} + \frac{\lambda}{\lambda} \log_{\lambda}^{\lambda} = m$$

$$\frac{\lambda}{\lambda} \log_{\lambda}^{\lambda} = m - \frac{1}{\lambda}$$

$$\lambda \log_{\lambda}^{\lambda} = \lambda m - 1$$

$$\log_{\lambda}^{\lambda} = \frac{\lambda m - 1}{\lambda}$$

$$\log_{\kappa}^{\lambda} = \frac{1}{\lambda} \log_{\lambda}^{\lambda} = \frac{1}{\lambda} (\log_{\lambda}^{\lambda} + \log_{\lambda}^{\lambda}) =$$

$$\frac{1}{\lambda} \left(\frac{\lambda \log_{\lambda}^{\lambda}}{\lambda} + \frac{\lambda m - 1}{\lambda} \right) = \frac{1}{\lambda} \left(\frac{\lambda + \lambda m - 1}{\lambda} \right) =$$

$$\Rightarrow \frac{1}{\lambda} \times \frac{\lambda m + \lambda}{\lambda} = \frac{\lambda m + \lambda}{\lambda}$$

$$(o/\kappa)^{\lambda-1} = \left(\frac{\lambda \kappa}{\lambda} \right)^{\lambda}$$

$$\log_{\lambda}^{\lambda+1} = ?$$

(A)

$$\left(\frac{\Delta}{\lambda} \right)^{\lambda+1} = \left(\frac{\Delta}{\lambda} \right)^{\lambda+1}$$

$$-\lambda+1 = \lambda+1 \rightarrow 0 = \lambda+1 + \lambda-1$$

$$= 2\lambda + \lambda - 1$$

$$0 = (\lambda+1)(\lambda-1)$$

$$\lambda = \frac{-1}{1} = -1 \quad \lambda = \frac{1}{1} \checkmark$$

$$\text{جواب } \lambda+1 \text{ منفي ميشود}$$

$$\log_{\lambda}^{\lambda+1} = \log_{\lambda}^{\lambda} = \frac{\lambda}{\lambda} \log_{\lambda}^{\lambda} = \left(\frac{\lambda}{\lambda} \right)$$

$$\log_{\lambda}^b = \frac{\lambda}{\lambda} (1+a) \quad \log_{\lambda}^{\lambda} = a$$

(4)

$$\frac{1}{\lambda} \log_{\lambda}^b = \frac{\lambda}{\lambda} (1+a)$$

$$\log_{\lambda}^b = \lambda + \lambda \log_{\lambda}^{\lambda} = \log_{\lambda}^{\lambda} + \log_{\lambda}^{\lambda} = \log_{\lambda}^{\lambda+1}$$

$$\log_{\lambda}^{\lambda+1} = \log_{\lambda}^{\lambda+1} = \log_{\lambda}^{\lambda+1} = \left(\frac{\lambda}{\lambda} \right)$$

$$- \lambda a \lambda^{\lambda} + b \lambda + \frac{1}{\lambda} c = 0$$

(10)

$$\frac{\lambda a}{b} + \lambda \log_{\lambda}^{\lambda} \rightarrow \frac{\lambda a}{b} = \log_{\lambda}^{\lambda} \rightarrow b = \frac{\lambda a}{\log_{\lambda}^{\lambda}}$$

$$\frac{b+c}{\lambda} = a \rightarrow c = \lambda a - b$$

$$\frac{c}{a} = \frac{\lambda a - b}{a} = \lambda - \frac{b}{a} = \lambda - \left(\frac{\lambda a}{\log_{\lambda}^{\lambda}} \times \frac{1}{a} \right) = \lambda - \frac{\lambda}{\log_{\lambda}^{\lambda}} = \lambda \left(1 - \frac{1}{\log_{\lambda}^{\lambda}} \right)$$

$$= \lambda - \lambda \log_{\lambda}^{\lambda} = \lambda - \log_{\lambda}^{\lambda}$$

$$\frac{1}{\lambda^{\lambda}} = \left(\lambda^{-\frac{1}{\lambda}} \right)^{\lambda - \log_{\lambda}^{\lambda}} = \left(\lambda^{-\frac{1}{\lambda}} \right)^{\lambda \left(1 - \log_{\lambda}^{\lambda} \right)} = \log_{\lambda}^{\lambda}$$

$$r^{-\frac{1}{k} \log_{\frac{1}{r}} r} = r^{\log_{\frac{1}{r}} \omega} = \omega^{\log_{\frac{1}{r}} r} = \omega^{\frac{1}{k} \log_{\frac{1}{r}} r} = \sqrt[k]{\omega}$$